' Professiondl PROFESSIONAL EXAMINATION BOARD
Bb@mminqtion Middle School Teacher Eligibility Test - 2018
board 28th Feb 2019 02:30PM

Topic:- Child Development & Pedagogy (CDP)

1) A student is motivated to study due to the belief that a good grade will help his/her application
for Class Representative. According to the Humanistic Theory of Motivation which need is he trying
to fulfil? / U BT 39 Ay § g H31 & fore e giar @ fr st I Sud /399! Pan ufafafy
aﬂﬁé?erra‘cﬁgn'craml SR & AFEaardt fRisid ¥ IR, 98 {59 sraxaddr &1 T H 3t
HIRIRT B ST 82

1. Esteem Needs / S8! 3a=aehdl
2. Self-actualization Needs / 3TH foayur Y SraRgEdr
3. Social Needs / GHI® 3MALIHT

4. Physiological Needs / fopardd® 3fTa=aandl

Correct Answer :-

« Esteem Needs / §S! 3TaRTH

2) Which of Marcia’s types of identity status is characterized by a crisis leading to commitment? /

TR & {59 yoR 3 yga o AT $Y 3W a2 §RT yg=1 Sat @ o ufaasan smdt 82
1. Identity achievement / Ugdld 3Ucleddl

2. Identity moratorium / Ugdld AT

3. Identity diffusion / Ugdld UHR

4. Identity foreclosure / UEdT BISTGRT

Correct Answer :-

o Identity achievement / Ugdld 3Ucleddl

3) Which of the following idea about learning process is not implied by the theory given by J.

Piaget? / fafafad # o 1 fduR 9. Wt gR1 3w 7 fisia & iftrma 35t uftear & wey § fAifga 76t 82

1. Learning is passive assimilation of given knowledge. / 3T T U I & sk Sifar %I
2. Learning is an internal process of construction. / 3feRTy famfor @ T AR Ufhan %’I



3. Learning cannot stem from observation or experience alone. & Bute Had Hadip a1 S RGE] Y I 8l |l
ehdT|

4. The process of learning makes sense in situations of change only. / SfATH Bt Ufshar had uRad- &t fufaai |
I H ot B

Correct Answer :-

« Learning is passive assimilation of given knowledge. / 3T fau T 39 &1 fAfspa aif¥rar g1

4) Children belonging to same age group and sharing similar social background are known as

./ U 3g T & = o1 BT SR U i gy B "I S & =9 H AT

ST B
1. Play mates / ol & greft
2. Friends / &3

3. Class mates / I&UTS
4. Peer Group / AT &1 HHE

Correct Answer :-
« Peer Group / ETTAAT T THg

5) Low student engagement inside the class could be because of - / HET ¥ MR osm sl o0
FeHTRET f5g SR A 8 gl 8-

1. model based learning / FAGT 3TUTRA 37T
2. Cognitive conflicts / TATATCHS IOy
3. Interactive sessions / GaTgIcH® T

4, the lack of interest / T T haT

Correct Answer :-

o the lack of interest / ¥T< &hT T

6) Observation is an example of: / Gﬁ?ﬁﬁﬂw BE'IETUT% :
1. Assessment / 3Tdhelcl
2. Evaluation / EELF\’J'I%T-[
3. Measurement / AT

4, Test / GI&T0T



Correct Answer :-

o Assessment / 3Theled

7) A disability present in which of the following? / Af>Ffaf@a & @ Fw & & nawar Al
e

1. All of these / et Jqaft

2. Continence, dexterity or physical coordination only / shdel 3TcHaaaH, AYUTAT, AT ARG FHAH

3. Speech, hearing or eyesight only /dae HIVUT, HdUT AT TTE

4. Mobility, perception or memory only / hdel ITfaefierdr, 3@ a1 FHfa

Correct Answer :-

« Al of these / Iuad Tqaft

8) involves a stimulus which strengthens the probability of the expected response. /

F v e gieafad @ § S e itk fr waraeT # yad S B

1. Negative punishment / PRTcHD GUS

2. Negative reinforcement / cTehIRTcHD el ol

3. Positive punishment / GhRTcHD GUS
4. Negligence / SlTUdTgl

Correct Answer :-

 Negative reinforcement / ThRTcHD go-ie(lolo-l

9) Which approach to teaching does strengthen one’s memory? / fRraor & faw
Fla-ar tiewIor fFe i T FY Aoqa Far

1. Multisensory /E@ﬂ'ﬁ?ﬁ
2. Visual memory / €T Fﬂﬁf

3. Tactile memory / AT EHIA
4. Audio-lingual / 3Tf3a-felvae

Correct Answer :-



» Multisensory / E@ﬂaﬁ

10) According to Kohlberg level of morality is determined by social norms explicitly or
implicitly agreed upon by a group of people. / PIEAGH F AR, Afdsar &1 TR FEoF
AEST garT ¥ose ¥ & AuiRa @ar § @1 aF & oF ¥HE qarT TS §9 § WA g g

1. Post-conventional level / US9-URUN® WX
2. Conterventional level / flceldATel TR
3. Pre-conventional level / q?r-UITQﬁ?F T

4, Conventional level / URUR& T

Correct Answer :-
« Conventional level / TRUNP TR

11) What is the process by which information is lost from the long term memory due to nonuse? / 9§

uiFar F1 3, OEE qEmr fdefew Wi & 8 gue euar @ & FROT gAd St §?
1. Delay / Ted

2. Decay / &1%

3. Rehearsal / qameamra

4, Interference / EI&T

Correct Answer :-

e Decay / &3

12) What does Kohlberg’s theory of development focus on? / Figaes & R 1 gy Fag w®
Fiega 82

1. Moral judgement / Afd® Aoy
2. Moral behavior / afded gder
3. Cognitive judgement / TATACHS® Aoy

4, Judicial behavior / =aTA® cIdeR

Correct Answer :-

 Moral judgement / Afdew Aoy



What type of model describes development as a passive, predictable response to stimuli? / @ YR &1
Azl sewsar & AT v @A, seqfaa gfafear & w0 & Rew &1 aoa wwar 2

1. Organismic model / 3TIfSHS Az
2. Mechanistic model / Jdad Also
3. Attentional model / 37T HAsST

4. Descriptive model / uidATcHS HAlS

Correct Answer :-

 Mechanistic model / IJFad izl

14) What does OCD stand for? / 31¥ist (OCD) & qof & Fa1 872
1. Obsessive-Compulsive Design / ATe0f8d-wedfodd Bosa

2. Obsessive-Compulsive Disorder / Jrenffa-weufeda B3R

3. Obsessive-Cognitive Disorder / 3ifedfa- difdafea fBasiE

4. Office of Cognitive Design / 3Tfpd 3% didAred s

Correct Answer :-

» Obsessive-Compulsive Disorder / Jenflg-weufeda B3R

15) Theories of Child Development explains: / T fa&ra & m afvta #a &
1. How children grow and change. / I<d &Y ged 3R gEad &l

2. How children behave in schools. / I {-cpoi\i #H Far <Jdell ohld %I
3. How children are educated. / 9= $Ha Af&T 'e‘?l?f %I
4. How children react to situations. / = URIEATIAT & HFa gfaferar & %I

Correct Answer :-

« How children grow and change. / 9T &8 ded 3R dGad &l

16) Which famous psychologist first proposed the theory of Insight Learning from his study of
chimpanzees? / f&@ fliqy Fadwfas A gge TR ROl w0 3ver 7 T sreaae & aifoe arfters
& Rguid (LA AE gaame afdm) Ft gfanea Far?

1. Edward Thorndike / TSdas Urisisd
2. Wolfgang Kohler / alehalaT dhlgek



3. Jean Piaget / S fOra
4, Ian Pavlov / gaid Urddlld

Correct Answer :-

» Wolfgang Kohler / aiewslaT diger

17) Which of the following is an intelligence test? / faeaifaf@a & & Fla-ur v ggfer qdaor g2

1. Locus of Control Test / @idd 3HIth dheld ¢
2. Sentence Completion Test / TTFT GUIAT ULT&TOT
3. Myer-Briggs Type Indicator Questionnaire / FIY 598 TI3U Hhddd AT

4, Binet-Kamat Test / foaie-drad aigtor

Correct Answer :-
 Binet-Kamat Test / Tdae-drAd gdieior

18) Which of the following is not a type of reasoning? / RFIfaT@d & ¥ FHIT-UT TF YFR FT d& 71T

&

1. Syllogistic reasoning / 3UcRrhRI & (Rfersiifaffes d=fem)
2. Deductive reasoning / oTarcHs ab (Refaea d=ifam)

3. Transference reasoning / 3=IRITUT deh

4. Transductive reasoning / URcilfhes & (Tleasided Jraifeian)

Correct Answer :-

o Transference reasoning / J=IRIJoT ddh

19) Which of the following is not a gateway drug? / A&faf@a & & Fia-a1 v Aed g 7 82
1. Alcohol / W0

2. Tobacco / H’JIT

3. Marijuana / :mﬁq:m?-n

4. Cocaine / Ihlel

Correct Answer :-

« Cocaine / IhI



20) Which of the following is not the focal point in the process of teaching? / farafaf@a & ¥ #la-#t
fRyator & uftear & g fig adt 82

1. Pupil / BF

2. Content / HTHI;

3. Teaching method / fv&for fafr

4, Teacher / fr&TH

Correct Answer :-

o Teaching method / frg7oT fafer

21) Which one of the following is the symptom of ADHD? / fsafaf@a & & Hia-ar vdivadt w1 Fayor
87

1. Boredom / 3G

2. Stuttering / STl

3. Hypersensitivity/ 3faadeeTiierar
4. Hyperactivity / 31fa aferadr

Correct Answer :-

« Hyperactivity / 31fa dfeharar

22) Vygotsky’s Theory of Language is based on learning theory. / IIIMcEHT Y ST FT
Reuwa _ sftew & Rguia w smaRa 2

1. Behaviorist / TTdgRaTgT
2. Cognitive / HTATCHSD
3. Constructivist / IR

4. Emotional / HTIATcHD

Correct Answer :-

« Constructivist / TS

23) is one of the many ways through which culture affects development. / % adrr
##waﬂm%mmw#awﬁr e #t ysnfaa & §

1. Religion / SE)



2. Context / TEH
3. Language / HINT

4, Environment / TTAer

Correct Answer :-
» Language / #TUT

24) is studied under Personality and Social Development. / &1

eI FfFded 3R s Rem & siada frar smar §
1. Egocentric behavior / 3TcHbigd cTdER

2. Memory process / EHfd Ufehar

3. Perceptual acuity / IYRUMNcHD T80Tl

4. Premature birth / THI & qd FeA

Correct Answer :-
» Egocentric behavior / 3TcAbied eTaeR

25) The purpose of scientific investigative learning in education is: / e # dnfas s e @&
3¢ %:

1. To encourage collaborative work / T&IN Al &l WicaTed Hid & oI
2. To complete the curriculum content / UTGIAhHA qrAAdT @l QT A & fow
3. To build scientific literacy / d=iTfetep TIERAT &l fAATOT &aT & forw

4. To provide hands-on experience in class / &T T T&l 3IHT UG B o g

Correct Answer :-

« To build scientific literacy / d=TTfaies ATERAT &I HATOT FHIAT & forw

26) Outlining the expectations from the students will enhance their learnability. This task becomes part
of : / BT & IETAHT FT G FA A 3T HAIA iy evvar # gefdy geft| g w1 et &1 e a7 Smar
&

1. Summative assessment / FRIAT 3Teholed
2. Assessment of learning / 3fRITH FI 3Thele

3. Assessment as learning / 31fQ9H & &7 H bl



4. Assessment for learning / 3ifATH & forw mehere

Correct Answer :-

o Assessment for learning / QA & faw 3Mherd

27) When social values and beliefs are deliberately changed in an individual, it is known as A L]

qmﬁmmaﬁtmaﬂaﬁmﬁwﬁwﬁa#qﬁaﬁawﬁmm%msﬁ
rcr#sn:nan?n%l

1. Secondary Socialization / g I HATSRIOT

2. Primary Socialization / UTfdd FHATSIRIOT

3. Anticipatory Socialization / TcaTfId THTSIIAIOT
4. Re-socialization / GeT: - HHATSTHIOT

Correct Answer :-

* Re-socialization / Qe - GATSIRIOT

28) “Practice makes man perfect” can be example for which law of Thorndike? / “373ITH Hesd C)
aRYet Ferar 81" giseE ¥ frw e & fT semevor @ awar 82

1. Law of exercise / 3141 &1 (99
2. None of the above / 3URIp & & P el
3. Law of readiness / dcuidl &1 oI

4. Law of effect / UHTT T I8

Correct Answer :-
o Law of exercise / 339 &1 fFgH

29) “The Hierarchy Theory of Motivation” is a theory proposed by: / “UXUTT T 37T Rgua” 5%
ganrr gfaarfed & aram:

1. Abraham Harold Maslow / 3TsITgH %{Tvs HATEC

2. Le Semyonovich Vygotsky / oif RFafaa arsatcehr
3. B.F. Skinner / 1.U%. &R

4. Jean William Fritz Piaget / Sl fafergdr frcsr s

Correct Answer :-



« Abraham Harold Maslow / 3T§Ted lles HATEA!

30) What is called education acquired without any specific purpose, fixed period and place? /

et Rflse 3ggew, ARTd safYr 3ik va=r & R sftefRa Ren s F0 wa1 mar &2
1. Formal Education. / 3ilu=mRes fRrem
2. Informal Education / 3/aiu=aries et

3. Indirect evaluation / 3TUcT&T AT

4. Individual Education / cafrera et

Correct Answer :-

« Informal Education / 3/ataaries freqr

Topic:- General Sanskrit(L1GS)

1)

‘T3’ 3 FFATIge |1d: & ?
T |

_ ARISH |

SE:I-l

. T

Correct Answer :-

2)

‘TG 3 FRETIEE 91 ®: 2






2.
™
:
3.
.
4‘3|?'|§|1E"S=|



-,

9 d |

2.
.
STHE T |
3.

f“\"N|
4.Ei

Correct Answer :-

-,

9 d |

7)

QR FAHI FAT [T I9gAd ?
g |

T |

o= |

, T8 |

Correct Answer :-

g |

8)

‘F2TE Zid Mg -

g fob. g —favEea=d: |
1.



2 g icb. THT —fefarcded: |
_ RIS |

4 &l1.{5. ggHT —fenhgcg=a: |
Correct Answer :-

q.fob. g —favEeaed: |

‘GPH FOH U Fd: ?

|
, Tl |

T |
3.

. 991

Correct Answer :-

RMHdGH |

1.

 SHEFHEUH |



_ SHTEMRGH |
, |

Correct Answer :-

o
, AISIG |

Correct Answer :-

L Y

‘AR i YloFRee Blilagarg: F: T ?




SR |
3.

L Y
, AR |

Correct Answer :-
il T ﬂ |

14)

"Héﬁd" -2 Hrl_;'ollrﬁ\i'ue}q: h: ?
IS SR |
| TEE: T |

, GEE |



, TEd A |

Correct Answer :-

15)

ATRhe M ThH 2
. GEHL |
= |

3. aa‘-l?h |

o B W 9

4.

Correct Answer :-

16)

JCEIP R AR e E R C R CHEA T C R R E 2
. YIGHH |

.'HWIU

|

A



Correct Answer :-

2.
AGAE: |
3.
Ly

18)

‘T T & HS Gl -

Ly
1 CREIGEAREE

IEILE

| AiSARIGH |

, CRIAH |

Correct Answer :-



- ARG |

2
feerOasiay |
3.

, TEIRAH |

Correct Answer :-

20)

Rq:’ 399 TT9: e ?
| TR

2 Fddd;: |

_AHISH |

%d: |

4.

Correct Answer :-

ad: |



21)

A 3 9Ehd ST’ 5073 ‘O’ Tea [Rih: &1 2
fgedr |
IEFEII'FIH
,
, T |

Correct Answer :-

 Tgt |

™ ™
, ford |

Correct Answer :-



22 MJERAIGSH A STad -

.
lld{HQMd%HJ
CIREIGER 0

2.

1%ﬁﬂmdmﬂj

, GIHRTaRH |

Correct Answer :-

24)




| ARISHY |

| TRRIE T
3l3§|'{?1F3{El,3I=I

, RN SO A |

Correct Answer :-

4.%l'l:'EEh'IE‘:I'I:[I

Correct Answer :-



28) s [l = =
3 TTEIArARcETEE ! -
| AT |

29)

T T GHIEA - AN AR Fe (2
SIS |
L
(SCEN
2.

. GHIEd |



(o}
, @

Correct Answer :-

, S

Correct Answer :-

Topic:- General Hindi(L2GH)

1) 2 T T SR, S FAT F TSI

IR FEd G W1, Wiy e Ag o

T afed 9 BT W™ getal ST |

WH Y IR § Y S 719 "if¥ ] |

ITYed U= ) Ugeh? 19 IR T UY HT I<R Id133:
- ‘g FT s g ?

1. Prelled

2. gAY



3. geg
4. erdirel

Correct Answer :-

2) 3 P TSR], & BT FT AT

R Fad T 41T, 1Y A1 s |

T 9fed 1 B oo getar SR |

WM Y G9R ¢ P ¢ F@ 7 |

S ULl B UgH 19 TR T UY BT IR JaIgd:
Y- 1 F AR, 3D Pa A o a1t 7 PRl & woar g2
1. FE HROT o gl

2. oo HIAT & @

3. 37T B o Bl

4. |IY A Bl

Correct Answer :-

o TS A A BT

3) $X P T SERAIL I B S 5|

G A G 4, Wiy FHar g

T Afed I B W geftan SR |

WM Y 99R ¢ P ¢ F@ dR |

ST Ui Bl UgH 19 U T UY BT IR JaIsd:
- fgdia 37 & wdk A ford smmg faran 32

1. ¥ fOurg3it &t

2. |1Y &l

3. gl Y

4. gAY @l

Correct Answer :-

. TY B



4) A $A T ], F HIAT S 9 751

G o G 4, iy FHar g

Tt afed W 1 W geftar SR |

WM U I9R ¢ P ¢ F@ J |

I UL ®) UgH -9 U Y UY BT IR qarsd:
w=A- fier @1 fad wreg 372

5) 4 FA@ HT FHHA], o BT $Hd 9 751

G o G 4, iy FHar g

gt °9fed W i W geftar SR |

WM Y I9R ¢ P ¢ F@ q |

I UL ®) UgH -4 U T UY BT IR qarsd:
- ‘it 9ied I DY’ | AP 372

1. 98

2. 89

3. JAD

4. ¥Uh

Correct Answer :-

6) A TA T TR, I F S 7 85|
A Hd G URT, 1Y FHar |@igl |
T e 7 &Y Wl gl SR |



WM Y 99R ¢ P ¢ F@ q |

ST Ui B UgH 19 TR T UY BT IR JaTsd:
- g’ BT waiaard 2 § ?

1. &

2. Ty

3. g&d-Reu

4. gt

Correct Answer :-

o ey

7) 2 T 1 SR, & B ST T 85
T HEH G T, WY T Hig |

T Afed I B W geftan SR |

WM U Y9R ¢ P ¢ F@ qR |

ST Ui Bl UgH 19 U T UY BT IR JaIsd:
- T "R | a1y 82

1. STTST AT

2. ATh Yehe &I

3. AThT-SHThT AT

4. Ih gag PIAT

Correct Answer :-

8) S T T ], I BT S A 751

G e G 4, iy FHar g

Tt 9fed W i W geftar SR |

WM Y Y9R ¢ P ¢ F@ q |

I UL ®) UgH 9 U Y UY BT IR gargd:
- @ &1 yafgard § 2

1. el



2. 8181

3. gl
4. Qg

Correct Answer :-

9) I T AT SAREI, & B HA T

R e FR1 =1, e e g o

Tt 9fed T 1 W geftar SR |

WM Y Y8R § P ¢ g9 q |

ST U B UgHR -1 Y& T UY HT 30X qargd:
TH- ‘g’ § a1y 82

LR

2. Ty

3. |

4. A

Correct Answer :-

10) A T FT FAARAT, I HI SHd T 5|

AT FEH 1 4R, WY e g

T °fed T B oo getar SR |

WM Y G9R ¢ P ¢ F@ qR |

S ULl B UgH 19 U T UY BT IR JaIgd:
UH- ‘RT | aread 82

1. AfeT

2. gaut

3. &TH

1.7

Correct Answer :-



11) A $A HT AT, F H SHd T 5

R Fad T W1, 1Y A1 s |

T 4fed 1 B oo getar SR |

WM Y G9R ¢ P ¢ F@ 7 |

S ULl B UgH 19 TR T UY BT IR JaIgd:
- WM U IR 3’ H AaDR 82

1. 89

2. TJHB

3. 3UAT

4. 3UETT

Correct Answer :-

12) A $A FT FA4R1, S H SHd T 5|
AT FEH 1 4R, WY e g

T 9fed T B oo getar SR |

WM Y G9R ¢ P ¢ F@ qR |

S Ui B UgH 19 U T UY BT IR JaIgd:
- 3ifeH gig § PH-T1W 7 2

L ered

2. AR

3. Qnd

4. 3T

Correct Answer :-

. T

13) A $A HT AT, I HI SHd T 5|
R Fad T 41T, 1Y Her W@s1 |



gt 9fed W 1 W geftar SR |

WM Y 99K § Y& ¢ 7@ J1i¥l |

I UL ®) UgH -9 U Y UY BT IR qarsd:
TH-E & § ?

1. fagel

2. IcaA

3.dqd

4. ST

Correct Answer :-

. 3RS

14) FT $ T ST, S HI S 9 851
RA FAT T 41T, I1YY fHer @i

T T T BT Tgw geian s

W FY H9R § 4P ¢ 79 AR

I UL ®) UgH 9 U Y UY BT IR qargd:
TY- F B e IS § -

1.3 & PIS el

2. 3111

3. 379H

4, =g

Correct Answer :-

15) F° $o T ST, S HI S 9 85|

IR Had G U, 1Y e aigi

T T T BT T geian s

WH U GOR § Y& S 3a q1i¥|

ST TR B UgHR -1 IS T UY HT 36X qar3d:

- UYH g § Bid A f5a favinfa «1 feam &1 v fan 82



1. gAfSS fawaar
2. 31w fRAwaar
3. qifds fawarar
4. UTRaRe fawarar

Correct Answer :-

. gATSS fawaar

16) ¥ A8 B T W1 § FT IR HIGH 7, TR WifefAe @ % TWRT Sa1 e 1ar 8 8iv fielt amer fe
TEY 82 F1 I SHBT o1 Mt SEART T 82 WRT AT, Wb AT S LY 82 1 gH g1 WY T ST b et
1 dreT T T a9 | e T TPdl 82 WR 7 o TR 98y W 7€) JuRare], T81 Ay 81 wiemeR

A o9 Y-l BT N, 99 WHRT & AR U IS a1 It SRR B ghift, I F T e F aa o
Tl Ut gueT &) fR-0R Taer SwR e w8 g i div o ) ffae’ s wiehne: A 3% g wg
g | faf 3 gg ey g a8 gueH A8, S U §, & 31 U8 $r gl 3, W e ol we od
Ug & 38T 8, W ol R 5w ot 381 § wict Wiwn 81 o1, dt 31 §d ugH ad, a1 9 fE9md, wie 7 f&am 4
T faTSaT UT1 MG Ut BT U 3BT §1 3R qH, '3I3T, 9 Ug' W%wﬁﬁlwwmﬁaﬂ

o i %%m%mﬁa@aﬁﬁquﬁlﬁﬁmwma@ﬁ WA FER A B 3 iR
TEH FIP 9N I U1 A18dl §, IR GrRY SiTEl $T 98 HaT ad URT &7 g UheH AP oaT gl

ITYe T B UGH A IS T ¥Y BT IR Td133:
Y- ‘Tl g AT A A |2

1. fagel

2. dcaA

3. dgd

4. A

Correct Answer :-

o facel

17) ¥ IAg¥ B TRE @A § FT g% ATGH &, TN I RAd A 5 TWRT a1 we 741 § iR et arer e
BT T2 1 gR SUPT W1 Y SIEHIT TGT 82 TR OesAl, HPI AT 1Y AT 82 1 g7 g1 i 781 91t b et
B YieT - Tig A7 A e e TPl 32 TR T ft greR A8 W 9t IwRard), ST fayr 31 wleRnwr

A 99 Y-l BT N, 99 WERT & AR U TS a1 It IRl ghift, I F Ty gt F aa o
Tl S e & -4k daer Fw Fera @ 8 & & @ § ffae 73 v 3 346 g os e
g1 faf 8 gg ey g a8 gueH A8, S U §, & 31 U8 T el 3, W e df we od
ugH &1 ¥81 8, W foelt i 59 off ¥o1 8 wiet Wiaen gt oI, @t 3% o us <, a1 7 R, widt 7 fEam @
T faTSdT 4TI WS Uel BT 3TUE 38T 81 3R qH, 331, Id HE’ W%wﬁﬁlwwmﬁa@ﬁ
sl %%am%muﬁa@aﬁﬁquﬁlﬁmwmm TWa IR T &) oA fier
UEGH FIP 9 I U1 A1l §, IR GreRY 3iTEl $T 98 FaT gd URT &7 g UheH AP aaT gl

ST TN DI USHT A1 I T Y BT IR qa154:



UH- g # A S 91 'awI BT ygigar 8?2
1.
2. 0H

3. 3T
4, o1

Correct Answer :-

o QU

18) # AN B T T[T § T IR HIGH 7, TN WifefAs @ % TWRT a1 e 7ar 8 8iv 3fielt amer fe
TEY 82 F1 I THBT o1 Mt SETRT T 82 WRT AT, Wb AT S LY 82 1 gH g1 WY T ST b et
1 dieT T T a9 | e T TPdl 82 TR R o TR 98Y W 7€) JuRare], I8T Ay 81 wie e

A 9T YE-wler B8 N, 99 WERT & AR gHA S A $1 BRI B g1ft, 3 & e o4 & aa &
FEl Ut g o TR-9R Fiaar S FHem ) 5 & 9 9 § foae’ svs e 3 3¢ g og e
g1 fafer 2 e oredt g | U Hue™ A€, THH IUSTH 8, Y 31 I8 oe B, St Qg o we o
UeA & 361 8, W et R €9 ot ve1 @ Wit Wiwwn & i, &t S od v aq, a1 7 {9, wie) 7 & @
F1 faTSdT 4TI RIS el T TUE 3BT 81 3R qH, "3BT, T US' HEH 96 ¢ 81 | IR 98 forasit ot
ol g i st &y wiel fEam &1 ot 5 7 81§ g ug wiel dud-3ud gReR 7% &I e ftaR
HEGH B 9 3 TSI A16dT §, IR JReRT 3TE] BT g ST &6 HRT ST G TheH b oo 2

ITYed TN B USHR IR IS T ¥Y BT IR T4133:
- Qi R@ 9 9 82

1. aifefcas TRl

2. Aifefcas gt

3. 9T9-gTeT

4. qdadt Tfcaer

Correct Answer :-

. Qdd! Afgcaar

19) # AN B TR W1 § FT IR HIGH 7, T WifefAe RE & TWRT Sa1 e 1ar 8 8iv fielt amer fe
TEY 82 1 I SHBT o1 4t IEART T 82 WRT AT, Wb AT S LY 82 1 gH g1 WY T ST b et
1 dreT T T a9 | e T TPdl 82 WR 57 ff TR 98y W 7€) JuRare], T81 Ay 81 wiemeR

A o9 Y- HET N, 99 WHRT & AR U IS aF It SRR S ghift, I F T e F aa o
P! U g &1 fR-R e S Ao 18 8 fr fu A § foas’ #3¢ wiehme: 3 3w g o faa
g1 fafer 2 e oredt g | U Hue™ A€, THH IUSTH 8, Y §1 48 A oed B, St Qg o we o
T+ & 5T 8, W fhdt iR 79 oft ¥e1 8 wie Wiwwn & 1, °t Sie S ug+ a4, a1 7 f&and, wier 9 fdwm @
FqT faRTSaT 4TI WIS Uelt BT 3TUE IeT 3 3R qH, "33, Id Y’ HEh 98 T g1 | IR g fHa-it
eoel ? fp ametft & Ui wiel fFam &1 o 51 9 8§ gRRY U8 wiel dWd-3wd R F9% @) 3u fiaR
HEYH B3P 9 3 TSI I18dT §, R g} El o1 g dRaT 48 R 47 ¥ ThgH A& &l 2



ST TR B UgH 1 U Y UY FHT 3R JaIsd:
TRH- AP A7 A U MY HI ) AP AT 82

1. Arfefeasd qTd @i & HRoT

2. UHATE & W I[d P BROT

3. OaTde T 3@l T AET &8 IRT I SR
4. YHATE P TAT P STH

Correct Answer :-

20) ¥ AN Bt RE STAT § FT g HIGH ¢, TN WIRfAs RA % TreRT oa1 we a1 8 3R el e i
B! 82 FT gre SHST ol W ST g1 &2 TRT AT, Wb Id a1 U T o2 &1 g a1 I 781 &ir1a b it
1 deT T TiT a9 | ST T TPdl 82 TR R o TR 98Y W 91 IuRare], I81 Ay 81 wie e

A 9T YE-wler B8 N, 99 WRERT & AR gHA HSH A $1 BRI B ghft, o & e o8 & aa
FEl uSt gaHH o TR-9R Higar FW FHom 7 5 & 9 9 § foae’ s36 wiems 3 3¢ g og fear
g1 faferr @ e oredt gue T | U que™ A€, THA IUSTH 8, Y §1 I8 oeH B, St Qg o we o
UeA & 361 8, W il R €9 ot 7e1 @ wie) Wi & o, 4t 31 od v aq, a1 7 {9, wie) 7 e @
F1 faTSdT 4TI RIS el T TUE 3BT &1 3R qH, "3U3T, I US' HEH 96 ¢ 817 | IR g8 forasit ot
ol g i st &y wie f&Ea™ &1 ot 5@ 1 81§ g ug wiel dud-3ud gieR o &I e iR
HEGH PP A I TS 16l §, AR G iG] $T U8 T &8 HRT 79 H3) TheH U T 2

IUed TR D1 USHR A Y T ¥Y BT IR T4133:
- TR BT M §2

1. prehdT

2. gl

3. feFerEdT

4. TolE

Correct Answer :-

21) T A P WG @Al § FT g ATGH 8, N I RA® RA 6 TreRT oa1 We a1 § 3R et ares R
TEY 82 FT I THBT o1 Mt SEART T 82 WRT AT, Wb AT Y LY 82 1 gH g1 WY T ST b et
1 dieT T T a9 | e T TPdl 82 TR R o TR 98 W 7€) JuRare], I81 Ay 81 wie e

A 9T YE-wler B8 N, 99 WERT & AR gHA HSH A $1 BRI B ghft, o & T8 o4 & aa &
FEl Ut g o TR-9R Higar FW FHem ) 5 & 9 9 § foae’ svs e 3 3¢ g og e
g1 faferr @ e oredt gHe T | U Hue™ g, THH IUSTH 8, Y §1 I8 oe B, St Qg o we o
UeA & 361 8, Wt R €9 ot 7e1 @ wie) Wiwwn & o1, 4 e od v aq, a1 7 {1, wie) 7 e @
F1 fTSdT 4TI RIS el T TUE 3BT &1 3R qH, "3BT, T US' HEH 96 ¢ 81 | IR 98 forasit ot



Tl B f smetlt & ury wiel fEam &Y off 5ar 7 8§ TR a8 wiel tud-awd e FaR @) 3ue e
HEYH BIP 9 3 TSI 18T §, TR g} 3E] &1 98 a1 6 R o7 g3 TheH A& T 2

ITYd TR B USHR AR Y T ¥Y BT IR T4133:
1. & &1

2. 38

3. AT HTNT T

4. IS HI

Correct Answer :-

o 3{IUSH @

22) T A B WG @Al § T g ATGH 8, T I A® RA % TRt a1 we a1 § 3R et ares R
TEY 82 1 9% SHBT o1 Mt SETRT T 82 WRT AT, Wb AT Y LY 82 1 gH g1 WY T S b it
1 dieT T T a9 | e T TPdl 82 TR R ff TR 98Y W 91 JuRare], I81 Ay 81 wiemeR

A 9T YE-wler B8 N, 99 WERT & AR gHA S A $1 BRI B g1ft, 3 & e o4 & aa &
FEl Ut g o TR-9R Figar Fw FHem ) g & 9 9 § foae’ svs e 3 3¢ g og e
g1 fafer 2 e oredt g | U Hue™ A€, THH IUSTH 8, Y 31 I8 oe B, St Qg o we o
UeA & 361 8, W et R €9 ot ve1 @ Wit Wiwwn & i, &t S od v aq, a1 7 {9, wie) 7 & @
F1 fTSdT 4TI RIS el T U 3BT &1 3R qH, "3BT, I US' HEh 96 ¢ 817 | IR g8 forasit ot
ol g i st &y wiel fEam &1 ot 5 7 81§ g ug wiel dud-39d gReR 7% &I e iR
HEGH B 9 3 TSI A16dl §, IR JReRT 3TE] BT g a1 & HRT ST G TheH b oo 2

ITYed TN B USHR I IS T ¥Y BT IR T4133:
URH- ‘TS Pt TE! YT T 8?2

1. FAG-FG &8

2. 3Tecer™

3. GeIa] ol

4. gid fe@m@= &g

Correct Answer :-

. id fcET gaar

23) 7 A P NG @Al § FT g ATGH 8, Y I fA® RA % TRRT o1 We a1 § 3R et ares R
TEY 82 1 I SHBT o1 T IEART T 82 WRT AT, Wb AT S LY 82 1 gH ST WY T ST b it
1 dreT T T a9 | e T TPdl 82 TR R o TR 98y W 7€) JuRard], T81 Ay 81 wie e

A o9 Y-l BT NI, 99 WHRT & AR U IS aF It SRR L ghift, I F T e F aa o
Tl Ut gueT &) fR-0R Taer SwR e w8 g 5 div o ) ffae’ +3% wiehne: A 3% g wg
g1 fafs @ g erydt gueT | U8 U 781, UH SUTH B, 9T €1 g a aeHt B, W G o) Be o



Ug & 5T 8, W W 59 ot 381 § Wit Wiwn 81 U1, df 31 §d ugH ad, a1 9 fE9md, wie 7 f&aa 4@
1 faTSdT 4TI WS Ul BT 3TUE 38T 81 3R qH, 331, Id HE’ W%wﬁﬁlwwmﬁa@ﬁ
sl %%am%muﬁa@aﬁﬁquﬁlﬁmwmm T@a IR T &) 3 iR
UEGH FIP O I TSI A1l §, IR GreRY 3iTEl $T 98 HaT gd URT &7 gt UheH AP oaT gl

ST TR HI Ugh 1 U 7Y Uy HT 36X Ta1sd:
- TR & SHR TS 3} TrAE 7T 22

1. ®Iel & foIw S[d &l Telrer e

2. WY T & forw off S &1 F @

3. Wil &g & fow off Fiead aar

4. el o T&ar grar

Correct Answer :-

« Bt f@a & T it S &1 ger

24) ¥ Ag¥ Pt WG W1 § 1 IR ATGH 8, IR AR R fF Rt o1 e a1 § 3R el are e
B 82 T T ST 9T W 3G g1 82 RT oA, Hebal AT U T 82 F1 g 31 W 781 o1l o et
B 4T e g a9 § et o Todl 82 TR fibe it R I8 W €Y AuRaTe), 981 fayrd 81 wienmwr

A 99 VSI-wier BT g1, 99 WERT & SR g0 IS a1 Bt SR &1 ghfl, 3 F T o8 & aa &
Tl U gueT &) fR-0R Taer FuR e w8 81 i div o € feae’ 3% wiehnme: A 3% g wg
g1 fafRe @ e Srydt g | a8 g e, $9H SUSH B, ot 21 U8 $a e 8, St e df Be S
Ug+ & e 8, W el w89 oft ve1 § Wit Wiwn & o, &t S 5 e ad, a1 9 [, wie 7 R @
FaT fSTsar uT1 Mg Uelt o1 3 38T 81 3R g, 33T, 99 Us' Wé’o’ﬂﬂaﬁlmwﬁmﬁa@ﬁ
sl %%m%wﬁamﬁaﬁquﬁlﬁmwuﬁﬁé@% WA TR T B 30 R
HEH P& 94 I TS 9T8dl §, IR JeR! 3Tl $T I8 @7 4 U g Y3 TheH AP dT ¢

ST TR F UgHR A2 IR T UY HT IR gaTsd:
TR AR’ T T A 32

1. 3T BT

2. 98 B Pl

3. AUUT BT

4. 7@ H o AT

Correct Answer :-

25) # I B NP @1 § FT I ATqH 8, WY T RA P TRRT o1 We a1 @ 3R el areR i
B! 82 T T ST 9T W 3G g1 82 T oo, Hebal AT U T 82 F1 g 31 i 781 o1l o et
! dreT TR T a9 A el o godl 82 TR 67 it IR 98y W 98 AuRard), To1 Iy 8 v e



A 9T YE-wfer B8 N, 99 WRERT & AR gHA HSH A $1 BRI B ghft, o & e o4 & aa &
FEl Ut g o TR-9R Fiaar S FHem ) g & 9 9 § foae’ svs e 3 3¢ g og e
g1 fafer 2 e oredt gue T | U Hue™ A€, THH IUSTH 8, Y 31 I8 oe B, St Qg o we o
UeA & 361 8, W et R €9 o 7e1 € wie) Wi & o1, 4t e od v aq, a1 7 ¥, wie) 7 &= @
F1 faTSdT 4TI RIS el T TUE 3BT &1 SR qH, "3BT, I US' HEh 96 ¢ 817 | IR 98 forasit ot
ol g i ot &y wiel fEam &1 ot 5 7 81§ g ug wiel dud-3ud gReR 7% &I e ftaR
HEGH DI 9 3 TSI A16dl §, IR JReRT 3TE] BT g ST &6 HRT ST G TheH b oo 2

ITYe TN B USH R IS T ¥Y BT IR T4133:
T~ A1 B W 1 s Us ¥e1 82

L 3foeh

2. AST

3. e
4, ATGS

Correct Answer :-

26) ¥ AgX B WP QAT § FT g ATGH 8, TN AIiefd R & TR Sa1 e T @ i el ames i
BT T2 1 gR 3UDT 9T Y SIEHINT TGT 82 TR OesAl, HPT AT 1Y TY 82 1 g1 g1 i 781 91t b et
B a1 - Tig A7 A e e THdl 32 TR 5T ff greR A8 W 9t IwRard], se1 fayr 31 BleRmwr

A oig VSI-wie FET EN, 99 WART & AR U BT a1 31 SR B ghft, 3 & T8y ot & aa |
Tl Ut gueT @) fR-0R Taer SwR e w8 8 fF div o ) feae’ 3% ek A 3% g wg
g fafer 2 e oredt gue T | U queH g, THH IUSTH 8, Y §1 g oedl B, St Qg o we o
Te & 31 8, W el iR g9 oft 721 @ wiel Wi € U1, @ S o ueH @, a1 7 f&Ed, wier 9 Rk @
1 fRTSaT UT1 YT Telt BT 3T 38T ) 3R qH, 33T, Td HS' HEPY 96 T g1l | IR I8 fha-it a8
ot § % eirelt & Uy wiel fiam ) +ft 5ar 7 7 # gl a8 wiel dud-¢ud g 7% & e HiaR
HEGH B 9 3 TSI 916d1 §, IR JReRT 3TE] b1 U8 T & HRT &7 J3 TheH b 3T 2

ST TR HI Ugh 1 U 7Y Uy HT 36X Jarsd:
U- ‘JIRATEY’ WG | I AT 99 -

1. fg9g

2.8

3. 3T

4. ggIfe

Correct Answer :-

o TAHT



T Ig¥ Pt IRE WAl § T g JIgH 8, W I1fefe A for qrerT ST we Tam § $iR el arew fe w8t
2?2 1 g% 39T o1 Y 3wy A8 82 WRT AW, Wehla a1 U ) 82 T qu a1 Y 7Y oa f et
4igT e Tig a9 § et oo Tdl 82 TR fibe it TR I W 91 AuRarEl, To1 Ay 31 wenmwer

A o9 Y-l HET N, 99 WERT & AR g0 TS a1 It IR Sl ahift, S F Ty gt F aa o
Tl Ut gueT &) fR-0R Taer FwR e w8 8 i div o ) feae’ 3% wiehne: A 3% g og
g fafirs g 9% Siydt e | g8 GuS™ g, $UH SUTH §, ST 81 U8 T STeH! 3, S g df Be S
Ug &1 8T 8, W ol W 59 ot 381 § Wit Wiwwn 8 ui, df 31 §d ugH ad, a1 9 f&amd, wiet 7 f&am 9
T fSTSar UT1 MG Uelt o1 3T 38T 81 3R g, 33T, 94 Us' Wé’o’ﬂﬂsﬁlmwma@ﬁ
sl %%m%muﬁﬁ@aﬁﬁquﬁlﬁmuﬁuﬁﬁé@% WA FIER A B 3 iR
TS FRP o I U1 918l §, IR RN i@l $T 98 Il g6 WRT &7 gt TheH 3P oal gl

ST TR P UgHR A9 U T Uy HT IR ga1sd:

- Ugd T ¥ AG® 3UA I fAe [R@ #t {5 e W wurer o 39 82
1. 9t I

2.5d W

3.8 W

4. AT WX

Correct Answer :-

¢ IJd W

28) # 9gX B TRP @I § FT I ATGH 8, WY T RA P TWRT o1 We a1 § 3R el arer i
B! 82 T T ST 9T W 3G g1 82 N1 oo, Hebal AT U T 82 F1 g 31 i 781 ol o et
&1 UieT e Wia A & Seft o el 82 TR fbe ot ek oY W St Juvard, ST Ay 81 wieTeR

A o9 Y-l FET NI, 99 WHRT & AR U IS aF It IR 1 ahift, I F mey st F aa o
Tl uSt gue &1 dR-9R diaer SuR e w8 g & g o € feae’ o3 et A 3% g &g e
T fafer 3 9 Syl gueT | U HuPT g, $UH SUSH ¢, T 81 UT HuT SMeH! 8, S Qe of we o
T & 381 8, W fhlt iR 3% oft Te1 8 wiel Wiwan € 1, &t S S ue a4, a1 7 &, wier A fRimm @
F1 faTTSdr A1 WIS Ul BT 3MTUE 36T &) 3R qH, 33T, T S’ Heh 96 ¢ 81 | IR g8 frait o
‘eorsl g for arrelt & Ut wiel fa™ &1 WY 51 9 81 # TRl 98 Wiel qud-gad gRR o & 3ue HiaR
Y HIP I I USHT A18dT §, AR JeR) SHTE] $T I8 ST & HRT TG g TheH AP T 2

SUT TR P UgHR A2 IR T Uy HT IR gaT3d:
- U BT 1 Wi g-

1. % S

2. BeT fepdre

3. el A

4. e TaHrd

Correct Answer :-

Rl



29) ¥ AgX B WP QT § FT I ATGH 8, TN AIfefs R & TR Sa1 e T @ iR el ames i
BT T2 1 gR 3UDT 9T Y SIEHIT TGT 82 TR w1, HPT AT 1Y AT 82 1 g1 g1 i 781 1t b et
B a1 - Tig A7 A e e TPl 32 TR 5T ff greR A8 W 9t IwRard], ST fayr 31 BleRnwr

A o9 Y-l BT N, 99 WHRT & AR U TS a1 It IR Sl ghift, I F ey e F aa o
Tl Ut g &) fR-0R Taer SwR e w8 8 fF div o ) feae’ 3@ ek A 3% g og
g fafer 2 ae oredt gue T | U queH g, THH IUSTH 8, Y §1 g oedl R, St Qg o we o
Te & 31 8, W el iR g9 oft Te1 @ wiel Wi € o1, @ St o ueH aa, a1 7 &=, wier 9 R @
1 fRTS T UT1 YT Telt o1 3T 38T ) 3R qH, 33T, Td HS' HEPY 96 T g1l | IR U8 fha-it a8
ot § % eretlt & Uy wiel A & +ft 5ar 7 7 # gl a8 wiel dud-¢ud gl 7% & e HiaR
HEGH B 9 3 TSI 916d1 §, IR JReRT 3TE] BT U8 T & HRT &7 J3 TheH b 3T 2

ST TR HI Ugh 1 U 7Y Uy HT 36X Ta1sd:
- ‘oSt | aread 82

1. 30 G

2. g@Td

3. g

4. SerH

Correct Answer :-

30) # A8Y Pt NG Wl § T g ATgH 7, TR IRfe R fr qrerT o1 e o § 3R Siieft are e
B! 82 T T ST 9T W 3G g1 82 RT oo, Hebal AT U T 82 F1 g 31 Wt 781 o1l o et
B! 4T e g a9 § et o Tdl 82 TR fibe oft R I8 W €Y AuRaTe), 981 fayrd 81 wienmwr

A 99 VSI-wier BT 81, 96 WERT & SR g0 S a1 Bt SR &1 ghfl, 3 F T p¢ & aa o
Pl U gueT &) fR-0R Taer FuR e w8 81 fF div A € feae’ 3% wiehnme: A 3% g wg
grT1 faferr @ e oredt gue T | U que™ g, SHH IUSTH 3, Y § 1 IE HuT o B, S Qg A B o
UgA & e 8, W flt R €9 ot ve1 @ wie) Wi @ o, < 1 od ue aq, a1 7 [, wie 7 fum @
F1 faTTSar 4TI IS el BT 3TUE 38T 81 3R qH, 33T, T S’ Heh 96 ¢ 817 | IR g8 frasit o
sl g f5 smert & U wiet g & oft S 7 811 # g 98 Wil SWd-d@d g TN B U iR
HEGH PP oI I TS ATedT §, AR G 3ATE] $T I8 diaT & HRT oG H3) TheH U T 2

ST TR F UgHR A1 IR T UY HT IR gaTsd:
WRH- U e ® wge (1) e &) wr wed @2

1. GAaTIR

2. IeUTeRIH

3. JIsleh

4. freaTgas

Correct Answer :-



Topic:- Social Science (SSC)

1) A situation where the number of workers employed in a job are much more than actually
required or in other words a segment of the population not employed at full capacity is known as

. | & fRufa st forelt o8 A e e 4T &) Wi 9Rad # Sawas 9 e gl g a1
TR gl § SEE &1 U9 v o ot armar wR s § 98 @ g, S & =g d ST
ST B
1. Involuntary unemployment / 3c{oed SRISTIMT
2. Voluntary unemployment / Ufe&e SRISTIMRT
3. Structural unemployment / IRITHD SRISTTR]

4, Disguised unemployment / U=9d SRISATRY

Correct Answer :-

 Disguised unemployment / Y=< SRISATRY

2) Who believed that learning should be ‘the realization of one’s full potential and the ability to use
those skills for the greater good’? / f&H®T AT AT o *3iftrmH, fareht &t gt ermar 3R it A aiftre
3 & T 37 I BT ITART HA BT T i Wiy @1 Ty

1. Dr. Y. K. Singh / 3T. @15, &. &%
2. John Dewey / SifeT §§

3. John V. Michaela / STieT @Y. farQrem
4. Charles Beard / aTeq T

Correct Answer :-

« John Dewey / 511l &

3) BPL stands for . | Sidiea &1 favga &u B
1. Base Poverty Line /99 Urdel ?—I'I's;?[

2. Base Price Line / 9 CI'I'é? ?—né,?r
3. Below Poverty Line / Tl aider CIEG
4, Below Poverty Level / ERIRICERCER]



Correct Answer :-

« Below Poverty Line / fdal Qidel orse

4) Which among the following is the main industry of the MENA region of the World? / fFafefaa |
q B 11 fay F TAT (THSTAT) &F HT Y- IANT 82

1. Tourism & Hospitality / Wea 3R nfazy

2. Mines and Minerals / @ 3R @A

3. Petroleum / UgITordat
4. Manufacturing / fafeaTor

Correct Answer :-

o Petroleum / ﬂ@ﬁ?ﬂ?

Match the following Sufi Saints with their Silsilas:

1. Nizamuddin Aulia | A.Nagshbandi
2. Bahuddin Zakariya | B. Qadiri

3. Ahmad Sarhindi C. Chisti

4. Milan Mir D. Suharwadi

| TraAfafEa gir dr # 39 Gatddr & Fee w3

1. fAead= e A FFUEET
2. 9EI391d SRMLAT | B.FIEL

3. 3{gAC TXig=al C. et
4. T8 e AR D. gglarsr

b=




1. 1-B,2-A,3-C,4-D
2. 1-A,2-C,3-B,4-D
3. 1-A,2-B,3-C,4-D
4. 1-C,2-D,3-A,4-B
Correct Answer :-
« 1-C,2-D,3-A,4-B

6) A ship starts its journey from Kandla port on the west coast of India for Kolkata Port on East
Coast. Which among the following is a correct order of the ports of India coming on the way? / T&h
SETSl YRA & U3l de IR Sisdr §¢37e | Ydf d¢ WR Hadal §e98 & g =it 9 IRE $-ar 2|
fFrafifEa & @ o9 I # 3 9 YR & WE de7I61 &1 U 0el 4 372

1. Mumbai, Cochin, Tuticorin, Ennore, Paradip / Eiﬂé, P, T—E—ﬂ?ﬁlﬁﬁ, TedY, URIGIT
2. Mumbai, Mormugao, Cochin, Ennore, Chennai / :g'aré, W&ﬁ, aﬂ?-ﬁ?f, Uy, ao—aé

3. Mumbai, Tuticorin, Ennore, Chennai, Vishakhapatnam / E'j?vlé', Fﬁﬂ?ﬁlﬁ?r, Ted Y, ﬁﬁé,
IGRIECICRGE

4, Chennai, Vishakhapatnam, Haldia, Paradip / t\JrrrIé, ﬁf‘\’llislll-lc\,Crld-l, gfecdr, URIGIT

Correct Answer :-

e Mumbai, Cochin, Tuticorin, Ennore, Paradip / :g'aé, P, Fﬁ-ﬁ?ﬁfﬁ?f, T, URIEY

7) In the sea, plants are restricted up to the depth of AL ¥, ey & TI??I% GEQ
wfaafRa 21

1. 1000 meters / 1000 #HrexX

2. 200 meters / 200 FHIeX
3. 20 meters / 20 HreX

4. 2000 meters / 2000 HreX

Correct Answer :-
« 200 meters / 200 HIeX

8) The gold coins of Vijayanagara empire was not called as / IR 9T & 91 & Riaw! # g8
Tl BT SITaT T :

1. Hon /&



2. Varaha / dIgl
3. Gadyana / ITOTTT

4, Niska / a1

Correct Answer :-

o Niska / AT

9) The Foreign Direct Investment was increasedfrom_____ during the implementation of

New Economic Policy in 1991. / 1991 ﬁ=|'§ e Hffa & Wﬁ'ﬂ? & R Uuel fae=h
fraw a1 faar mar ur

1. 50% to 70% / 50% ¥ 70%

2.40%t0 51% / 40% I 51%
3.30% to 40% / 30% I 40%
4.30% t0 39% / 30% & 39%

Correct Answer :-

e 40%1t051% / 40% & 51%

10) When did the National Food Security Bill introduced in India? / ARd & TS greq
T fA9as Fa goda fhar T

1. 2214 December 2011 / 22 fe@aT 2011
2.22% December 2012 /22 f&HaR 2012
3.22M December 2014 /22 @8R 2014
4. 22" December 2013 /22 feT&T 2013

Correct Answer :-

« 227 December 2011 /22 fGHR 2011

11) Who among the following influenced the development of Project method?/ rfaf@add
et aR@sre qqufa & fawm #r yanfae

1. Socrates / b
2. John Dewey / SiieT f&dr



3. Pestalozzi / O&dTelicdl
4. Comenius / PIATTIT

Correct Answer :-

« John Dewey / CICRES)

12) Who said that “Curriculum is a tool in the hands of an artist (teacher) to mould his
materials (pupils) according to his ideals (objectives) in his studio (school)”?

| e wE1 F eIt vE FaeR (eTw) & g1 7 Al 9% oo § o 9w 3w
A (FHeT) & I et (35N F AR el wAal () #r arer w2

1. Munroe / ?ﬂ?ﬂT

2. Arthur Cunningham / 3T R wfdas
3. Robert Dahl / I@E STgeT

4. H. L. Laswell / Td. Tel. Arde

Correct Answer :-

« Arthur Cunningham / 3R Hices

13) Who described the role of Prime Minister as ‘the linchpin of Government’? / f&&e
guTTHEA Y AR F WER B AR (gf Fr Hrer) garm

1. Jawaharlal Nehru / STdTeY ool &

2. Alladi Krishnaswamy Iyer / 3Teellc) PCUTEATAT 31TAT
3. Dr. Rajendra Prasad / 3f. TUsleg UdTG

4. Sardar Vallabhai Patel / TRGR Todlds Ul

Correct Answer :-

« Jawaharlal Nehru / STdTeX Tl dg®

14) Only two Asian countries are in 1IGW country club of Geothermal Installed capacity. Which
are those Countries? / Fael & TRIATE e -ariar FFART & & 1GW 2T Ford 7 51 F a1
Pl ¥ §2

1. Malaysia and Singapore / #eiferar 3k RFomgy



2. Indonesia and Philippines / Z2=fRm@m 3R freida
3. Laos and Cambodia / @m30d 3T dafzar
4. India and China / #Rd 3R d=

Correct Answer :-

« Indonesia and Philippines / g3 3R freidia

15) Committee referred to criminalization of politics hinting at close nexus that
has come to prevail between the politicians and the criminals. / afafa a IeEfa &
rqredieRTor @1 o faRam, S Aansit it it & fiw afase @ev & @Ee I §

1. Santhanam / GATTH

2. N.N. Vohra / T, T AT

3. Shri K. V. Chowdary / A . Y, el
4. Shri Sharad Kumar / 3 RG AR

Correct Answer :-

o N.N. Vohra / Udd. Td. Al

16) are societies which offer credit facilities for a short term to the farmers. /

¥ @A § ot FraE o sreuaf® & v wor g vee wa
1. Programme for Agricultural Credit Supply (PACS) / BT 30T 3qfa & forw srishar (droedios)
2. Private Agricultural Credit Societies (PACS) / fastt iy &r@ dfAfaar (divdvd)
3. Primary Agricultural Credit Societies (PACS) / WTITHd P TATE@ AT (Frodwd)
4. Personal Agricultural Credit System (PACS) / SafthaTd Hf¥ FoT yomel (droziivd)

Correct Answer :-

« Primary Agricultural Credit Societies (PACS) / UTUfH® Tﬁf g giAtaar (dredey)

17) is a writ issued to restrain a person from acting in a public office to which he

/she is not entitled. / ot afFd F 37 gdefas FEET # 1 S0 F A &
foT arfy AT = yieer (Re) ¢ Swer ag s a8 81

1. Mandamus / R



2. Quo warranto / JTIBR JToil
3. Certiorari / 3cO§UT
4. Prohibition / Ufaver

Correct Answer :-

» Quo warranto / B P

18) Howard Gardner proposed: / §1aTS ST A YEATTad fhaT UT:
1. Theory of multiple intelligence / E@-Eﬁ%ﬁT 1 FgTd

2. Two-factor theory / &1-BRd G

3. Multi-factor theory / Ig-pReh fagra

4. Group factor theory / 'H'I?ﬂ?ZF HRP g

Correct Answer :-

« Theory of multiple intelligence / EIE-E” fgehdT &1 Fagd

19) A social science teacher is expected to be an epitome of democratic virtues. Which among

the following is a democratic virtue? / oS AT & et F dedie TJTT HT Tl AT
STt ¢ faeafaf@a & #ar va awditye or g2

1. Students have the liberty of attending the class at any time / TI@TT=T ot TRt off T heT A
ST gt Y Fac7ell &

2. Distribution of questions among the students / Tt 3 gt & faaRoT|

3. Accepts and invites differences of opinion from the students in a positive way / HhRIcHD TT H

faanfdat & ATHET P FTHER HT & R 3MARAT Far B
4. Maintaining strict discipline in the classroom / &1 3 T&T STIRMHA TATT IWAT|

Correct Answer :-

« Accepts and invites differences of opinion from the students in a positive way / HPRIcHD T T

it & FATAE B TR Har & 3R 3MHET FaT &

20) The major demerit of lecture method is: / SITEIT fafer &1 9H " 3901 &

1. It is a time consuming process / I& Teh AT ol dTell UThaT &



2. It reduces the attention span / J& AT HATY HdA B Gl el

3. It encourages learning through divergent thinking / g Taaferd fidar & areas & 319t &t

UlcaTied Al ol
4. Tt discourages self-effort by the student / TE STT GRT HTcH-UATH Pl TllcTod Pl &

Correct Answer :-

« It discourages self-effort by the student / I& ST gIRT HTcH-UATH Gl G»d\ld-lllr%d HIdl %I

21) The purpose of punishment is to decrease the frequency of behaviour. / §IT T
35T ____ SYGER I A Y HH FIAT8

1. learned / TQ9Tf AT

2. undesirable / 3TATGAT
3. positive / HhRTcHD

4. desirable / AT

Correct Answer :-

« undesirable / AT

22) The is indeed the foundation of socialization because it is the first contact of the

child. / arEaa & GRS Y Hig ¥, F9ifF a8 R 952 1 9gar 9 gar g
1. neighbors / GSIT

2. family / IREAR

3. peer group / T qIg

4. environment / ITAROT

Correct Answer :-

o family / IR@R

23) The Constitution has fixed of the total membership as quorum for both Lok Sabha
and Rajya Sabha. / SRS o Al 3R Tsgw@sm Q= & AT FEaOE TE&AT (FRA) &
T H FI GGTIAT HT fruifa frar 2

1. half / 3141



2. one-tenth / Ueh-ggdl
3. one-fourth / (’EF-EﬁQTIé
4. one-third / Tsh-faers
Correct Answer :-

« one-tenth / Uh-gHdl

24) Group activities are the cardinal exercises in collaborative learning, which are aimed to: /

Tg frarrary wrfes Rrator & Ew e B, forererr 3qgew e &
1. Boost pride among the students / Tt 3 3mcaAfaars geE

2. Reduce the burden of the teachers in their instructional style / fRT&TehT & STST &l SeAchT IGERIREE]
et 3 B AT

3. Make the classroom active and participatory in nature / &&T bl EF{T% & aferd 3R Tl aarer
4. Generate synergy among the members of the group / HHg & GSLAT & 1T dTelH T dATAT

Correct Answer :-

+ Generate synergy among the members of the group / g & TEET o &1 dTeTH ol FedTAT

25) Which Article of the Constitution makes it clear that Panchayat Raj Institutions have some
original functions and some agency functions? / dfaers &1 FleT @T 3@@? Ig TISC AT &
& darra U9 geAnt ¥ O q9 7 3R Fo Affwor (vod) w2

1.243-E / 2433

2.243-G / 243-30
3.243-F / 243-T%
4.243-0 / 243-301

Correct Answer :-

o 243-G /243-30

26) Which Five Year Plan was drafted under the leadership of P. C. Mahalanobis? / ®lsT &Y
yaasty Ao fH. Fgeay F aqea # AR 7 79§ 4y

1. Second / %T—ﬁ'q



2. Fourth / Tt

3. Third / I

4. First / 9UH

Correct Answer :-

« Second/ fgdra

27) Which of the following is commonly used to record the informal teacher observation
regarding students in and outside the classroom? / fRET 3UUNIT ATATI: F8TT F 36T A I
fagaf¥at & v 7 srettoarites e sraeie Rerd w3 & fore frar smar @2

1. Cumulative record / Tt Repig

2. Checklist / STra-gaT

3. Rating scale / sheT fAUROT AT

4. Anecdotal record / SURSIHIHS RHIS

Correct Answer :-

« Anecdotal record / SURSTATHD |§$VIS‘

28) Which among the following is typically used to display all kinds of creative works of

students in the classroom? / F&T ¥ fagafdAt & @t YR F T@ATcHS F1AT ) I&fid F: &
v Arafaf@d & ¥ fFasr sgater fAfse &7 @ Farsmarg?

1. Flannel board / FolTel a1
2. Black board / q@rﬁw GIES
3. Peg board / UaT GIES

4, Bulletin board / gﬂﬁ'ﬂ s

Correct Answer :-

« Bulletin board / Jeifee &S

29) Where do Nyaya Panchayats prevail? / =31 99TId gl Ydfad 82
1. District / TorelT

2. Village / 3Tia



3. Block /selfeh

4, Corporation / IGEIE

Correct Answer :-
« Village / 31Td

30) How can a social science teacher effectively and experientially transact the concept of

sustainable development among students? / T HTHTST AT fA8TH ﬁa:qﬁih’r A gad Rew
Y TR HT FeTe 3 IrTeraTcats &7 ¥ FA T4 F THaAT 82

1. Conducting brainstorming session on sustainable development / Tdd [der T W
(SITHEi ) I3 Farford & |

2. Showing a movie on environmental preservation / TATIIUT FXETOT IR U fhed fe@many|

3. Undertaking a field trip with the students to an ecological hotspot / i & a1y v
qIRTEAUTARIT BleTdic U Teh 819 ATAT & GAcd oIl |

4. Delivering a lecture on sustainable development / Tdd [IhIT U ATEIT Gl |

Correct Answer :-

« Undertaking a field trip with the students to an ecological hotspot / e & @y v
gIRTEAUTARIT gleruic U T &7 ATAT & &icd Al |

31) How many types of urban local governments currently exist in India? / AR H qdA=T A
frast yaR & aEd T TWEN §?

1.6
2.7
3.3

4.8

Correct Answer :-

32) According to the State Banks (Repeal and Amendment) Bill of 2017 which among the following
subsidiary banks of SBI ceased to exist? / 2017 F we dx (ﬁlw?l' IR #Qﬂﬂ?l') 9as & 3173?11'
THdaTg & farafaf@a AleEr wers 361 & § Fa @1 95 @ IR

1. State Bank of Karnataka / ¥¢& & 3iT% Paleh



2. State Bank of Punjab / T¢€ & 3% Uaia
3. State Bank of Meghalaya / ¥¢¢ & 3iT% HAgred
4, State Bank of Travancore / &€ d 39T FTauTRR

Correct Answer :-

« State Bank of Travancore / &€ &b 3T FTIUTHR

33) What does Pir mean in Sufi tradition? / g6 9Twr & R &1 a1 3 ghar 82
1. Supreme being / GIHATHT

2. Greatest of the Sufi saints / T Tl H FIH HElA

3. None / IS el
4. Spiritual Guide or Elder / e HB W'T??‘Zh'? q1 W'f

Correct Answer :-

« Spiritual Guide or Elder / 3T AnfeRi® a1 §T§P’f

34) What is not true about Raja Ram Mohan Roy? / TSI TUH #AlgeT T & IR & FAT T 1T 82
1. He abolished sati system. / 351 Il TUT &I FAT foHa|

2. He founded Banaras Hindu University. / 3cgie IlR& f?@ Trafaarea & TATgar i

3. He founded Brahmo Samaj./bo-'é-\ir-l ST GATST T TATTAT T

4. He was an advocate. / dg Tch ghrer |

Correct Answer :-

« He founded Banaras Hindu University. / 3ol deIRd %ﬁ frafaarera &r Tamgar $

35) What is true about Simon Commission recommendation? / T8HT FHAIIT Hr RAEINT & IR & Far
T 8?2

1. Abolition of Sati / Tt TT BT I
2. Abolition of legislature at Centre / & H fauTRIwHT &1 St GE)
3. Abolition of Child marriage / dTd fddTg &1 [Sis Skl

4. Abolition of Diarchy / §¢ I T 3@

Correct Answer :-



« Abolition of Diarchy / &% X HT [ SE!

36) Bhakti cult was spread in Maharashtra with the teachings of N & Iyeet & sida gy
AgrTse H et 4|

1. Tukaram / JPRTH
2. Jyaneshwar / SITARaX
3. Ramdas / TTHAGH

4. Chaitanya / I3
Correct Answer :-

e Tukaram / JPRTA

37) Quantitative restrictions imposed on imports to encourage domestic production are known

as ./ O 3G Y WicHTRd FXa & [T AT 9 T ¢ AECAF yfaay &t
& W & AT AT 2

1. Tariffs / UR[e<h

2. Subsidy / TSTERRIAT (Hlews))
3. Quotas / BIeT

4. Embargo / <IIUR gfaeer
Correct Answer :-

+ Quotas / PleT

38) First five plan was based upon which popular economic model? / TIH yaayfy AT R
ey s Alsa W araRa o

1. Lewis Model / 338 Higel

2. Mahalanobis Model / HTIA T AlSH

3. Cobb-Douglas Model / PIT-ZITeTT Al

4, Harrod-Domar Model / %ﬂg-g’lm HAlsol

Correct Answer :-

e Harrod-Domar Model / %‘{’Ig-g’lm Alsol



39) Which Sufi saint propagated that devotional music was essential for being closer to God? / L)
¥H ¥ A @R frar @ afFa w@ofa, serae & w09 @ & Qv smaeas

1. Saikh Muinnuddin Chisti / /@ #lgegg el frech
2. Shekh Alam Bukhari / 1@ 3ol @R

3. Syed Muhammad / 33¢ HAeFHAC

4. Kwaja Fariddudin / 4TSIl cﬁilqga‘l:l

Correct Answer :-

« Kwaja Fariddudin / SSTST BRIGge M

40) Which were the two cave paintings of Gupta Period? / I[° &Tel & ar @1 o wla & &2
1. Ajanta and Bagh / 3fSidT 3R &9

2. Ajanta and Ellora / 3fSidT 3R TaRT

3. Lomas Rishi cave and Bagh / A BP?W‘ICF[ 3R 919

4. Ellora and Bagh / QFﬁ?T 3R &Y

Correct Answer :-

« Ajanta and Bagh / 3{SidT 3R &9

41) Which Women leader represented India in Second Round Table Conference? / CX:) ?Flﬁ?ﬂ Adr oF
gl Medtsr aFaaa & wRa &1 yfafafea e

1. Sarojini Naidu / SRIFSHT 1Ig
2. Aruna Asaf Ali / 37301 3% 3(cl

3. Kamala Devi Chattopadhyaya / AT ¢al Elé Urerg
4. Vijaya Laxmi Pandit / faorar @&t ufsd

Correct Answer :-

« Sarojini Naidu / SRIFSHT ARIg

42) Ryotwari System was first introduced by Thomas Munro in .1 TIAATES) ST dT §EE g
UTHE HAN @RI # g% 7 AN

1. Bengal Presidency / STTd Dt
2. Bombay Presidency / s OISt
3. Madras Presidency and Bombay Presidency both / Fgrg DS 3R S IS gt



4. Madras Presidency / Agg Ue

Correct Answer :-

« Madras Presidency / H&™ Utaat

43) Who won the ‘third battle of Panipat>? / ‘ATeflqd &T freRT Jeer frwar Sfar
1. Hem Chandra Vikramaditya / g9 9% faswHiica

2. Sher Shah Suri / qR =18 0

3. Ahmad Shah Durrani / 3{gHq RTg §€T¢ﬁ

4. Ibrahim Lodhi / 3sfed @relt

Correct Answer :-

« Ahmad Shah Durrani / 3/gHg 1§ G

44) Who was the founder of Tuluva Dynasty? / Jdd TSAGY & TEYF il 4?2
1. Deva Raya I / GaTa GU3A

2. Virupaksha I1 / fareurer fgda

3. Tirumala Raya / fa%aTel I

4. Tuluva Narasanayaka / JeldT cIXHATIDT

Correct Answer :-
* Tuluva Narasanayaka / JeldT cI{HATIDT

45) Who was not the prominent literary figure during Babur’s time? / FlT IR F FAT A bt

ifgcasR 81 41?

1. Khusrau / E@ﬂ'{}f

2. Mulla Shihab / el HI&d

3. Sheikh Zainuddin / 4@ Stefere
4. Khwandamir / TAFGHR

Correct Answer :-

e Khusrau / w



46) During the reign of Mauryan Emperor Binddusara which heterodox philosophy flourished? / ARF
ATe RegaR & raaHa & SR FlaT a1 FRF gl werm-ger?

1. Vaisheshikas / 3_mfrepra
2. Ajivikas / AT AR
3. Nyaya / =1

4. Nityavadi / f@cgmard)

Correct Answer :-

o Ajivikas / 3tTafdpra

47) Albania, Bosnia and Herzegovina, Bulgaria, Croatia, Greece, Macedonia etc. are known as
Balkan countries. The term Balkan is derived from the following landforms? / GIWIﬁ'ﬂT

T 3R gomifaAT, gemiar, ek, Hiw, ARsiar nfe & arew- =0 & ¥ & S \rdT gl
e Ve Fafafaa y-snefaal & | fea forar mar 82

1. A Lake / T 3fiel

2. A Sea /Uh "

3. A Mountain / Th gad

4. A River / Ueh oIar

Correct Answer :-
« A Mountain / Th Tdd

48) Which of the following is a pull factor for Migration to the place of Destination? / fArfafaa & ¥ i
| AT TG R Ja8a & AT v god haey (@iwer 1 F7F) 32

1. Unemployment / SRISATIR
2. Peace and stability / enfa 3R ERd
3. Political Turmoil / TSTifa® Eorad

4, Poor Standard of Living / &HASAR Sdd FX

Correct Answer :-

o Peace and stability / enfd 3R REeRar

49) The nature of social science is best represented: / LILISED ﬁ?l'F-[ Cd| ﬂ?ﬁ A Hﬁﬁl’q RG]
CRILIRE G



1. As a unified subject / Tch Q‘cﬁl@_cf IBLR K R

2. As an independent subject / Teh TIdT fauT &b FT H

3. As a dependent subject / Teh TR fawg & &7

4. As not a correlated subject / Uch Tgddg [T th ®T H T

Correct Answer :-

» As a unified subject / Tch (’_cﬁw fvg & su A

50) “To monitor daily performance and to encourage students to reflect on their own
learning.” This is the purpose of: / "¢ & Ue=lA &1 e w1 iR fenfday & v & fRren
P Uhe P4 & forg Mefegd w11 "ug A F138u &:

1. Diagnostic assessment / SGTieeh 3TTeholel

2. Anecdotal records / SUTEITATCHD Repis

3. Non-referenced assessment / 3THGTHd 3TThele
4. Portfolio assessment / GICWIToIdT 3TTchole]

Correct Answer :-

« Portfolio assessment / GICHhITerAT 3TTholel

51) Sedimentary rock change to metamorphic rock because of which of the following

process? / 3(A¥TS! T, BTG ggHl A fAaferfad # | f5a ufhar & sror aiafda g wrdt 82
1. Re Crystallization / gaﬁwzaﬁm

2. Uplift Weather and Erosion / 3¢t #HlGH AR 370ReA

3. Fusion / e

4. Burial-Heat and Pressure / &%hel-drg 3R &

Correct Answer :-
e Burial-Heat and Pressure / &%d-did 3R &g

52) Which among the following is not an ideal teaching skill for a social science teacher? /

g & 9 =1 v amifore fag Riee & fore ve et Riemr e 981 82

1. Optimal movement in the classroom while teaching / fI&T0T & GRT &I H ST T |



2. Eye to eye contact with all the students / THY faafd=t & @121 37M@ & 311@ TYF TATAT|

3. Stimulus variation while lecturing / SITEATT P THT 351U [HeAdT |

4. Maintaining strict and rigid discipline in the classroom / P&l T e 3R HBR SR d-1U
QAT

Correct Answer :-

« Maintaining strict and rigid discipline in the classroom / D&l T I 3R FHBR SR 11U
RECEIN

53) Which among the following is not a type of ass1gnment in the strictest sense? / fFafaf@a &

| B fagrs 3rdf A TP YR &1 JHISIH T8l

1. Curricular assignment / ulqad{ {-Id-lchRId

2. Remedial assignment / SUARIcHD '\EI?:@?{QFT

3. Revision assignment / gaﬁm?r H?@?"QI?-[
4. Preparatory assignment / YR f&37ch mﬁéma

Correct Answer :-

« Preparatory assignment / YR & H’cﬂﬂﬂ'?lﬁ

54) Globe is a classic example for: / Ted IPTI TD 3P ¥ 3qleXvl %:
1. Projected aid / WSlehes AU

2. Audio visual aid / 3133 fag[37el AU

3. Graphic aid / It ATU

4. 3D aid / 3D @191

Correct Answer :-
e 3D aid/ 3D G149

55) In an ecotone, the species which become abundant are called? / T& WHIAFT (3HeE) &, T
yonfaar S Amr s @) et §, 378 Fer San 82

1. Edge species / U1 genfaar
2. Keystone species / @Rela ganfaar



3. Endemic species / U ganfaar
4. Foster species / ®iFeX gafaar

Correct Answer :-

« Edge species / U gaiTiaar

56) Which one of the following is slow downhill movement of debris? / &1 # & Fia &t =
aAy #r el sreeme afy §2

1. Creep / shig
2. Earthflow / dcmvdarg

3. Landslide / ${¥@ela
4, Mudflow / Uepydrg

Correct Answer :-

« Creep / iU

57) Which of the following country is the largest producer of Uranium? / @=faf@a & &
FIT AT A PATHA FT TG/ 937 3UEH o2

1. Kazakhstan / ®oRIEd™
2. Canada / SdTST

3. Australia / 3T ToraT

4. USA / €§gh T AR

Correct Answer :-

. Kazakhstan / eI

58) Which day is celebrated as Earth Day? / & e &t qedt fRaw & w0 & #emn smar 82
1.22nd March / 22 &

2. 5th June / 5 [

3. 16th September / 16 TAdeR

4.22nd April / 22 3T



Correct Answer :-

e 22nd April / 22 3l

59) When was the Gandhi-Irwin Pact signed? / Tith-33fa9 THsia R w9 gxaner fFar mar ur?
1. 1931
2. 1929
3. 1935

4. 1932

Correct Answer :-

60) Per Capita Income =

Jufa aafed emg =

Income

1 Employment rate

S

ISR &

National Income

Population

TP 3
SHIEA

Taxable asset

3 Population
PR Ig JURl
ST

Population

4, National Income
SGRIRCI]

B 31

Correct Answer :-



MNational Income

Population



